NOTES

KEY PLAN

T}
b
R M|
< x
* M ! E
2 S S
2 = ?
=] fa W
o|> =
o~ o
i >
- T
/// 3
I S G — &
O 3
— B L I 11 = >
\\\\\ : o —
= 0 =]
8 gle
n —
U g4 © < ! = &l
o an] m Lo _I_ll =
o o a) .. >
[ Y 1w o o)
— 2 =
< p3 ..
LL[S © I
\ N _E
/90 Q <
o IS
(7p]
L— o
= >
T
o
0
g 2
N
S| & = 3
=l < ol = 5
g = 5
£ 3 =
©f 38 =
¥ (@]
N o
x
—
o
-
o
= N
> N
5 =
o —
5 2 S
ES
LU= ]
““““““““““ .. s < 5
—\a&a _M = a
L 5
C .
3 £ Of

PL5

SCALE: 1:15
1*bout M16*50

) — ) — N

T AN I\ \Y/

4*bout M12*40

NN
N

1050

SCALE: 1:25

[FOR PARTMARK REFER PLAN FOR MIRROR PLATFORM]|

"0o1 0z6Y

(e}
m!

! FE

0B
S o o oM I M Te ~o o o F

\\\\\\\\\\\\\\\\ M i
< i ne e J,:
b | ey Nl

7 p o o o oy T TR

D4
<]

L1
RB7

T _ " - N_OoO -~ —

600

RB2

4*bout M12*50

TYP

RB2
RB7

C

3880

C

SCALE: 1:25
[FOR PARTMARK REFER PLAN FOR MIRROR PLATFORM]

. 00€T

J
M-y o o o F
I _n
tialll

T TR

= o s T T
s o o o
ey
Iy
=
ey
LTI

T
|
= 0S.T - 08T T
T
ﬁ

L 026Y Ly —

D2

TYP

OS SIDE PLATFORM 1- PLAN AT LEVEL-3
GRATING & HANDRAIL NOT SHOWN FOR CLARITY

D2

‘ZIA;——\ LNL NN LN LN

B B
\
\
\
\
\

L

L1

—

4*pout M12*50

AL1

RB1

RB9

4*bout M12*60
4*bout M12*60

00871 L1497

1*bout M16*50

7 00vT 008T

TYP

250

D4
R
A
[
il
L}
o o
ol o
o' 'e
\7‘4/
\
\
\
\
\
\
\
\
\
\
J |
.
o
|
\
\
|
\
\
\
\
.
\ 1*bout M16*50
L2

3
?

RB2
400

|
T

PL6
PL6 1B|
F
1B]
TYP @ PL6 LOCATIQNS

RB2
I

L1

BOTTOM
OF LADDER

N/

PL6

"9z ] 00T2=00€x. " ooe

_/

RB2
RB2

_/

1*bout M16*70

B

500

\
K
§
J_:
[
|l
e, ' 0
e | e
o) |,
\7!/
il
L |
I O |
L‘]i
K
K
¥
K
K
K
K
K
K
K
¥
I O
L
SCALE: 1:25

N

TYP
b
(a2

190

RB2
I
RB2

[FOR PARTMARK REFER PLAN FOR MIRROR PLATFORM]|

1*bout M16*70
=Y

I
I
I
i
i

mi
1
1
I
i
1
I
I
I
1
1
i
L]

PL5
o)
™

I

ONILVHO MHL

OS SIDE PLATFORM 1- PLAN AT LEVEL-2
GRATING & HANDRAIL NOT SHOWN FOR CLARITY

RB2
B N N

LEVEL-

T

X
=

LEVEL-1
sy Ik
- T -
T

D2

AL2 LEVEL-3
2
s LEVEL-2

R

k=
E— -

B
b
i
b

ALl
D1

RB1
AL2

RB9 {

AL2

AL2

2911 09 00ST=05¢+9 vee

4*bout M12*60

4*bout M12*60

y

84
il
|
|
\
|
|
|
|
|
I
]
\
|
|
|
|
|
\
2501 |
|
|
|

il

Ty
|

TYP

\ L*bout Mib40

—\C

P1
PIN

400
/]

[T TN LI TTTTMTTITT

1460

00ST=0G¢+9 vee

?
jm
pel

)

| =
r
%ﬂﬁ

A4

2100

]

PL6

200
[
4|

|
]

1*bout M16*40

TYP

1*bout M16*40

RB7
TYP

R ——

442

N —

500
=

RB2

A
ﬂHHHHHHHHHHHHHHHHMW\”‘HHHH‘”\”\H

\

\

|

\

|
T r
240 |

e e —

L1
PL6

Tt

A

1*bout M16*70

1*bout M16*40
TYP

A

SCALE: 1:25
[FOR PARTMARK REFER PLAN FOR MIRROR PLATFORM]

RB2
RB7

PL6

T LTI T T TP T T LT T T T T M I NI LT T T T W T T TP T T ITTTITIR

e 1 o

1090

NN N N g,
i
W/ G/ w—" 8 w—" o w—

T
!
i
i
i
u_l

4*bout M12*50
TYP

4*bout M12*50

TYP

T T T T T TP LT LI LT T T T T T I T T I TTITTTTT

|
|
|
|
|
|
|

&

|

|

|

|

\

\

\

|

|

|

700

T
1

|}
1z

SHUTTER LOCATIONS

1*bout M10*40
TYP @ FOLDING
RB2

RB7

LEVEL-3

LEVEL-2

O

OS SIDE PLATFORM 1- PLAN AT LEVEL-1
GRATING NOT SHOWN FOR CLARITY

LEVEL-1

RB2
RB7

ONILVHO MHL 8€

ONILVHO MHL 8€ ONILVHO MHL 8€
08¢t 008T 008T ¢1aT

77777777?,7777777777777

|

|

|

: \
pl———— g ———————————

]

]

26€9

ALl
b
b
\
\
\
F
b
F1 | W/ W/ WA WA W A S
e OO

SIM.

SIM.
ﬁ RB9

4*bout M12*60
4*bout M12*60

SaINoNIs epia L



SHARIKACOMPUTERS
Rectangle


